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MEAREERER T KN ERSHBES

% # s - BRHE By g {i & & 1
BRI 111,377,520 + 11,783,328 123,160, 848
EEAGE 111,377, 520
EERE 11,783,328
T O R 111,377,520 x 42.86% ( 30% =~ (1 — 30%) ) 47,736, 405
RHRME 123,160, 848 + 47,736, 405 170, 897, 253
—REEEE 170,897,253 x 53.85% ( 35% + (1 — 35%) ) — 5,423 92,022, 747
KBS 170, 897, 253 + 92,022, 747 262, 920, 000
R EE ] 262,920,000 x 10.00% 26,292, 000
EBEREN 262,920,000 + 26, 292, 000 289, 212, 000




EERNRE W SIS ERS T R AR SRR
% # i - Tkt i B g ff & # =
B R 123,160, 848
AE RS EREE L R RS RO ES 123, 160, 848
AE RS EREE L R AR SR ES 123, 160, 848
EEAGE 111,377, 520
%Iﬁiﬂﬁ??ﬁ?ﬁﬂﬁ%?ﬁ&lﬁﬁ HEAAME 110, 632, 320
T RIRKREZENEBRUVREERE 24.00 4,609, 680 110, 632, 320
BY%H

A
E3N=hc) 662, 400
2 {16 24.00 21,600 662, 400

B
el - B 82,800
3 =TS 1.00 21,600 21, 600

B
4 hREHwE 1.00 21,600 21, 600

B
5 HiR|E 1.00 21,600 21, 600

B
BEEEE 11,783, 328
=BARE 1,087,776
6 EHRARE 1.00 1,087,776 1,087,776

=
BEERERARE 2,175,552
BEERERARE 1.00 2,175,552 2,175, 552

=
EBMEDEARRUERAS 2,400, 000
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8 XBAEBHEENRVELRES

1.00 2,400, 000 2, 400, 000
=
EBHREMRE 180, 000
9 XBRERE 1.00 180, 000 180, 000
=
EBERSBEENRUVERES 5,940, 000
10 $BAEBEENRVERES 1.00 5, 940, 000 5,940, 000
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&5 1
£ MIRKAERGHIEBRRUVREERENES 1A&4Y
22 [ g - KT B B = B i ® 5 wmE w =
EEEMNE HEmA
A 1.40 55, 200. 00 71,280
e TS HEmC
= 1.00 4,532, 400. 00 4,532, 400
& it 1E%8EH : 1.008 4,609, 680. 00 4,609, 680
&5 2
2% 18 1mEHY
22 [ B - IR =-Liv] B = B i ® 5 W E " =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&5 :3
275 . BATHE 1mEHY
22 [ I - KT B B = B i ® 5 W E " =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1EZ8ES : 1.00[E] 27, 600.00 217,600
B4
& PG 1EHY
£ [ R - KT B B = i ® B W E iH =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1EZ8ES : 1.00[E] 27, 600.00 217,600




Rifix- I/ \vr—2

MEARBERER TR REDSHEMES

EFS:5
275 RERBE 1mEHY
22 [ g - KT B = B i 58 i fi&
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
5:6
&% EHARE 14y
22 [ g - KT B = B i %8 i fi
EXARE
= 1.00 1,087, 776.00 1,087, 776
& B 1E%8EH : 1.00=K 1,087, 776.00 1,087, 776
&5 1
&% EERERRE 14y
22 [ B - IR =-Liv] = B i £ i3 i
BEREARE
= 1.00 2,175, 552. 00 2,175,552
& it 1E%8EH : 1.00=K 2,175, 552. 00 2,175,552
&5 .8
2% ERAENEEHRVEGRES 14y
22 [ B - IR =2 iv] =y i | & i
SA4 kY 1500c ¢ 2%&
A 24.00 100, 000. 00 2, 400, 000
& it 1E%8EH : 1.00=K 2,400, 000. 00 2, 400, 000
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59
2% EBHRERE 1XHY
22 [ g - KT By = B {f & 58 i w =
XBHRERE
= 1.00 180, 000. 00 180, 000
& it 1E%8EH : 1.00=K 180, 000. 00 180, 000
&S5 :10
2% ERAEHEEHRUERES 14y
Z2 [ g - KT By = B {f Eid %8 i " =
EBASHEEHRVERES e E RS
A 24.00 247, 500. 00 5, 940, 000
& it 1E%8EH : 1.00=K 5, 940, 000. 00 5, 940, 000




